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Part1

1. The following figure (left) is a simple four-bar linkage mechanism.

(1) Why is the four-bar linkage mechanism so important? (3%)
(2) Give the names of the 4 links. (3%)

(3) Use professional terms to describe the motion of the windshield wiper in the figure below (left). (4%)
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emitting diode (LED)”? Give 2 examples of its applications. (5%)
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What is a “light dependent resistor (LDR)”? Give 2 examples of its applications. (5%) What is a “light

Consider design for assembly (DFA), which design in the following pairs is better? Why?
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1. Name four non-traditional manufacturing processes and 20%
provide short description.

2. (i) describe bulk deformation process. 5%
(ii) describe sheet metal forming process. 5%
(iii) describe progressive die process. 5%

3. (i) describe casting process. 5%
(ii) what are the important parameters affecting the processes? 5%

(iii) describe investment casting process. 5%



